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4 (Theory)
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(.- potential is const)
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[235 + 1] = [89 + 3 = P]

s P=144
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2 (Theory)
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Pv =nRT

Pv=ﬂx RT
I\/IO

p=L RT
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p_ 249 x10° x 2
8.3x300
P =0.2 Kg/m®

4 (Theory)

3 (Theory)

1
X=Asin at ; y = Aw C0S at
a=—Aw’sin wt

S A¢g=rrad

20 E
10* 20x10“x60
E =20 x 20 x 60 = 24 x 103)

For Electromagnetic waves,

%:C But energy is equally distributed in
E & B field
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C1227A°

W

V = 10% volt

A

T

For metals almost linear at high temp but
nonlinear at low.

2

Avg Thermal Energy = % KgT
Theory Based
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B = 1, nl (For Solenoid)
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With due consideration of significant figures —
We consider least decimals places
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p=tan (i)

Sy =tan™ (u)

i, can not be lens than 45°
.45 <i, <90° (u>1)
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M =zr*hp

=2I2><3}
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e

i - =7
— After L is removed — R cckt ¢ = A

.'.tan¢:x%:xc:\/§R

i - =7
— After C is removed R — L ckt —>¢_A

.-.tan¢=%:xL=J§R

. X, =X — Resonance cand.
~¢=0 .. PF.=cosg=1
(As ckt is purely Resistive)
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=27 fc (Egys )
= (27 x50x 40x10°*) (200)
= 2.512A,
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42. L.R.

43. 2 (Theory)
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44, 4
v=1.5y,

vi= % =0.75v,

Tl
V<Y,

.. No Photoelectric effect takes place.
~1=0

y=A+B=A.B=AB
It is AND gate




